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ID:259775 KD1306_Squareplus2.eps D Common

e Look at this pattern.

Step 1

Step 2

Step 3

Step 4

 If the pattern continues, how many  will 
be in Step 50?

A.  100

B.  102

C. 2500

D. 2502

ID:259832 AF112075_version2_shaded_ A Common

r Look at the shaded-gray fi gure in square PQRS.

S R

P Q

 The fi gure is formed by drawing a line 
segment and a quarter-circle. 

• The line segment connects point S to 
point Q.

• The quarter-circle has a radius of
6.0 centimeters and has its center at 
point P. 

 What is the area, in square centimeters, of 
the shaded-gray fi gure?

A. 9 18π −

B. 
9
2
π

C. 9π

D. 36 18π −

NECAP_PT07_G11_Math
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Mathematics—Session 2 (Calculator)

Answer questions 7 through 10 on page 3 in your Student Answer Booklet.
ID:259815 A Common

u What are the coordinates of the image of 
point P (1, 4) after a clockwise rotation of 
90° about the origin?

A. (4, –1)

B. (4, 1)

C. (1, –4)

D. (–1, –4)

ID:259954 CC4034_Algebra_Tiles.eps D Common

i Ariel used tiles to make this rectangle.

x units

1 unit
1 unit

1 unit
Key

 Which equation is modeled by Ariel’s 
rectangle?

A. x x x x( )5 6 5 62+ = +
B. ( )x x x+ = + +3 6 92 2

C. ( ) ( )x x x+ + + = +2 3 2 5

D. ( )( )x x x x+ + = + +2 3 5 62

NECAP_PT07_G11_Math
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 205745.002 205746 A Common, CMN 

i  This coordinate plane shows the graph of a 
function.   

    

6

–6–6 6–1–1

1

0

2
3

–2–2–3–3–4–4 21 3 4

4
5

–5–5 5

y

x

6

–6 6–1

1

0

2
3

–2–3–4 21 3 4

4
5

–5 5

–4–4

–1
–2
–3

–5–5
–4

–1
–2
–3

–5
–6–6

    

    What is the range of the function? 

A.    ҆    

B.    ҆  

C.       ҆

D.    ҆  

        

        
      145233.002 A Common, CMN 

o  Which expression is equivalent to 2(x2 + y)  ?

A. x2 + x2 + y + y

B.     x4 + y + y

C.     2x2 + y2

D.     2x2 + y  

    

        
      125758.001 D Common, CMN 

1)  Which expression is equivalent to   ?

A.     

B.       

C.       

D.     

    

6

ID:259810 YAR003_box_plot.eps D Common

o Andy recorded the number of points he 
scored in each basketball game he played last 
season. He used the data to make this box-
and-whisker plot.

18 19 20 21 22 23 24 25 26 27 28 29 30

Number of Points per Game

 Based on the box-and-whisker plot, which 
statement must be true?

A. Andy’s mean score per game was
22 points.

B. Andy scored more than 25 points in only 
1 game.

C. In the games he played, Andy’s scores 
had a range of 5 points.

D. In at least half the games he played, Andy 
scored from 20 points to 25 points.

ID:259894 cc4013_pedal_graph.eps [o B Common

a Emma pedals her bicycle at a constant rate. 
Which graph could show how one pedal’s 
height above the ground changes with time?

A. 

Time
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Time

C. H
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t
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Time

D. 

Time
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      119437.001 119438 B Common, CMN 

r  This drawing shows the measurements 
Eduardo made along a river.   

    

4 m10 m

14 m

d

not drawn to scale     

    What is the distance,  d , across the river? 

A.    56 meters 

B.    35 meters 

C.    24 meters 

D.    20 meters 

   

      169577.001 D Common, CMN 

t  The center of circle    P  is located at (5, –2). 

•      is a diameter of circle  P . 

•    Point  T  is located at  (–3, 3).     

    What are the coordinates of point  S   ?  

A.    (1, 0.5) 

B.    (4, 2.5) 

C.    (8, –5) 

D.    (13, –7) 

   

        
      144797.001 A Common, CMN 

y  The fi rst term in this pattern is   .

        

    Which expression represents the 20th term in 
the pattern? 

A.    ̒    

B.    ̒  

C.    ̒ ̒  

D.    ̒ ̒    

  

  

        
      145230.001 D Common, CMN 

u  Alana drew the graph of a function,   . 
She gave these three clues about the graph of 
her function:   

• The function is linear. 

•    The  x -coordinate of the  x -intercept is 
positive. 

•    The  y -coordinate of the  y -intercept is 
positive. 

    What could be Alana’s function? 

A.       

B.     

C.     

D.       

    

8
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      140033.003 Common, CMN 

1(  For what values of    x  is this inequality true? 

  x x         

    Show your work or explain how you know. 

   

        
      169711.005 169712 Common, CMN 

2)  Look at this pattern.   

   
Term

1
Term

2
Term

3
Term

4  

a.     How many dots are in Term 6 of the pattern? 

b.    Write an expression using  n  that represents the number of dots in Term  n  of the pattern. 
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      181299.000 181300 B Common, CMN 

e  This diagram represents a tower. The tower is 
in the shape of a cone on top of a cylinder.   

    10 m

30 m

10 m

    

    Which measurement is closest to the total 
volume of the tower? 

A.      2,200 cubic meters

B.      2,600 cubic meters

C.      9,400 cubic meters

D.     10,500 cubic meters

   

    
  140156.003 C Common, CMN 

r  Circle    C  has its center at the coordinates 
 (3, 8).  The coordinates of one point on the 
circle are  (–1, 6).  What are the coordinates of 
another point on the circle? 

A.    (–1, 5) 

B.    (0, 0) 

C.    (5, 4) 

D.    (6, –1) 

   

       
 119420.001 119421 C Common, CMN 

   t Look at this pattern.   

    Figure 1 Figure 2 Figure 3 Figure 4     

    If this pattern continues, Figure 20 will have 
210 hexagons. How many hexagons will 
Figure 21 have? 

A.    220 

B.    230 

C.    231 

D.    232 

   

      144800.001 144801 D Common, CMN 

   y A rug store is going out of business. The 
price of every rug will be reduced each week 
by 10% of the previous week’s price. One 
rug has an original price of $500. This table 
shows the price of that rug during the fi rst 
three weeks of the sale.   

    

Rug Sale

Week Sale Price of
Rug

0

1

2

3

$500.00

$450.00

$405.00

$364.50     

    During which week will the price of this rug 
be less than 50% of its original price? 

A.    Week 4 

B.    Week 5 

C.    Week 6 

D.    Week 7  

5
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      145456.001 C Common, CMN 

1@  Brenda must create a password according to 
these rules:  

•    The password must consist of 2 letters 
followed by 2 digits. 

•    There are a total of 26 letters and 
10 digits that she may use. 

•    The letters may be repeated. 

•    The digits may  not  be repeated. 

    How many different passwords are possible?    

A.           4680

B.       5148

C.     60,840

D.     66,924

   

    
  140135.005 140136 Common, CMN 

   1$    Sketch a right triangle in which tan ș = 5
12 , where ș    represents the measure of an angle of the triangle.

    Be sure to label ș  and the right angle in your sketch. 

    

   

 
     140031.004 Common, CMN 

1#  Look at the inequality below.   

    
0 < E F < ( 12 )

0

    

    Write a value for  b  and a value for  c  that will make the inequality true. Write your answer in the 
form  b  c  . 

   


